
    /    /Obliczenia hydrauliczne sieci rozgałęzieniowej rozbiór dla celów ppoż

  .  ( . )Sieć wodociągowa m Kopiec cz II

Węzeł Średnica 
Dz  /mm/

Dług. 
odc. L /m/ 

Przepływ
obl. Qm

l/s

Spadek 
hydraul.
J /%0/

Strata
ciśnienia
hstr  /m/

1,2 * hstr

/m/

Prędkość
przepł.
V /m/s/

Rzędna
terenu

/m/

Rzędna
linii ciśń.
przy Pmin 

/m/

Ciśnienie
nad teren.
przy Pmin

/m/
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Hp22

160 611 10,0 2,5 1,60 1,92 0,65
160 683 10,0 2,5 1,70 2,04 0,65

H = 2,96 m

154,90 190,12 35,22

156,20 188,20 32,00

156,20 186,16 29,96


